TR & 292 3§ 396 3 UfTS A YIs I8 a9s 3 ufgs Jerfest § fims &% U3 |

PE— I

Brtese = &t

fuzr = &t

e it (TT T CITT]

fos Hdter H®

B YAS : 120
g% AHT ;2 Uue

OMR 7= Hie &9 il

Hieew T IR3YT (fqur q9a TaH feg IA3HT a9)

- &=a |

1.

10.
11.

12.

e ferm yAsa (Fa82) § B€ 3 adl udar Ae 39 B8R fodas Aeg €8 miffar a9s § adt faar
Ter| I fa, fsﬂed'a@me@'dfs?vuewe:s'ammwmammﬁgawfea
&Hﬁ%mwa%mm @}ﬂmm@wmaﬂs—q’(OMR)mﬂﬂ?HMEg
WIEm dt3T famr 3, o9 1 3 9 fosr Adfts st § < 39 Aeer I

ferm U3 T a®-57% OMR Hie feg Fifts Tt § 395 et fige 3% Af a8 7% Yynfée Us & 793
9| At Us A ol 99 Us & @93 J96 ©F nifamr &dt I

grteeT fam & W3 yze BT Aerged J<dr, Ad9 QUIas foSt aret At a3, nidr A migdt J1
I SHteeg & 120 fHiet 9 120 yAs 96 I6 fAR® nigeufsa/d3gdie BHtees € fagt § OMR Hie
%Hﬁﬂ?&*§mam88?4oﬁizéu%§m|

YH&-U3T URSS (Fa&) © 64 Us Ia|
W%@WSW—W@W(W)W@WW%F@U 3t 8af 3 UASE (FaBT) ©
fantt & 79 96t grdtet I fa ot &t fasst udt I, Us 5 AR = 95w e 9 Us uet at T
799 YAa-U3d URSS (FI&<) ﬁgwrﬁﬁaﬁém%?@me@d g 393 femg fogos Aeg ©
fonrs feg fer8e Trdter T »i3 B8R &3t ©F o= UAS (Ja@e) Y3 J9a gdtet J, e fa ufowt
a3t arst I

a9 fai o9z < YAa-U33 UAsd (Jade) AT i3t At I 3t e feegw OMR mie T mdfus
Ty ff9 disT AR | fsas Aee § B3t 399 feu 3uEt® © Ay &g nmug foaras feg &3teht Aot
FISIT TTIET TS|

TUT T & 300 Y T&| IIX YAS 2.5 Wi T J| IIK AS® BTt 979 sy Ia »i3 BHteeg & OMR
ﬂ?&ﬁ?%ﬁ%?%ﬁﬂ%@?mw@?&

SiiTeg & I3 I I3 AT BT ddfee HIE (T9F A BT 0.5 ¥ix) T

eI ox/ians doawed 938 & Hardt J1
@chéld?Gerlcv)'%H@I&@E?L@WOMR%%@WWKWWW%M@
A9 q9ar grdiet I f& OMR Hig € 3% g3 € 996 ainit &% I |
Wﬁm@mmmmﬁmwmﬁ?ﬁwal fan gt 7x =t
AfEst feg yis @ viakHt Arsas § wifaw ffenr A

Note : English version of the instructions is printed on the back cover of this Booklet.
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feasfud fo=ld 23 (Alternative Investment Fund) (AIF) 393 feg AT U3 AF AfHS

3T famr aft S 3 I A fort 39 '3 UB 3" foer @96 I W3 A I8TS foma,

T2 g9 o feont @ ohe B9 ufgetis f53n A3 @ wigHs f53n a9s o9 &3

festzg ager I | enrdinle. § fdSt e g Sfgmr famr J 2

(a) 2 (b) 3 (o0 4 (d 5

n3g-I efowd uel feee (Ag) &5, 2019 © FAegs &9, I i3 I« &9

fagz At 3 2

I &5 efowrst uem & €3 919 A9 wi3a-IH Saifant 99 fager a9 B i
AEd fefa8as AEU3 396 T YA SIT J |

1. fee=e foucar andt € Ag € vieg feee § diges Idl I8 596 ©f affd
34, A § 6 Htfent 3 Tarfemy 7 Heler J |

111 fege © fouea & Ager yeordt Smiart w3 fefagas © o8 fix & 2-dudt

Ugy § IT 2= |
(a) fAIS I (b) fHIS I W3 111
(¢) fASE IW3 1M1 (d) fAIg I3 11

FT$ i e Ja w3 e fifle Ja @& fex Arorge Warsr w3t fedrdt ardt 3 | Aag
W3t &g fegrfonr famir i 12:15 3, 37 wWer I8 w3 fiie I8 fegaa fda o gear ?
(a) 90° (b) 75° (c) 84° (d) 82-5°

witsEr & X gue s AS B¢ faar f3urfde (F.D.) €9 foon a9 &3, fan 3 87 6%
&S Aorge fonra yu3 I | ufgd Arg € »iz &8 yuz I gt & Wit ot
s g I9 7S a4 g fean fufae o foen a9 &3 7 7s® 5% AOds
fonwrg ST J, gl GRS SO I8 o Wikt I ¥9U ag &3t 3 grat witt 593 849
ur3 feg ud gfge i3t fan '3 8RS Awa 3% ATgs fan fiser 3 | faa' faR I9
WHES W3 HIY 3 A9 T A8 € W3 3% A a8 99,534 JuUE I6 3T X 5959 J
(a) 1,00,000 (b) 90,000

(¢) 1,20,000 (@) Budas T It &t

ffa ¢t Afeg 9 €3 =fg I Ut & v r diead/fic &8 g Eadlas 39 &
6 fife feo goet 3 | 3% @ 3 i & 59 ¥ famr 3 3t f Ut i Afag =9 63
3 3 T99 a8 A 7 3 gt &9 39 R9 urel 99 <t w9 T 1/3 fIA & g9=g
J | 72 3F 39 A=A 3F B wuE-y gt J AT 3 | AF9 & (8T AA3) HY R
& I w3 gt fed 1 dieg/fie & v 8 uel fsaser 5g der I 37 yor &9 395
139 folor FHT BT 2

(a) 8fHe b) 9 fic © 12 fiie @ 18 fie
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1. Alternative Investment Fund (AIF) is any fund established or incorporated in India
which is a privately pooled investment vehicle collecting funds from sophisticated
investors, whether Indian or foreign, for investing it in accordance with a defined
investment policy for the benefit of its investors. In how many categories is the AIF
divided ?

(a) 2 (b) 3 () 4 (d 5

2. In context of Inter-State River Water Disputes (Amendment) Bill, 2019, which of the
following statements are correct ?

I. The Bill proposes to set up a permanent tribunal to adjudicate on all inter-state
disputes over sharing of river waters.

II. The dispute resolution committee will seek to resolve the dispute through
negotiations, within two years which can be extended by 6 months.

III. The current system of dispute resolution would give way to a new two-tier
approach with DRC and the tribunal.

(a) II only (b) II and III only
(c) TIandIII only (d) TIandII only

3. You are shown a simple analog clock with an hour hand and a minute hand. If the
time shown in the clock is exactly 12 : 15, what is the angle between the hour hand
and the minute hand ?

(a) 90° (b) 75° (c) 84° (d) 825°

4. Ayesha invests ¥ x for a year in a Fixed Deposit (F.D.) that gives simple interest at
the rate of 6% per annum (p.a.). She invests half the amount she gets at the end of the
first year, for another year, in an F.D. that gives 5% p.a. simple interest, spends half
of the remaining amount and lets the rest of the amount be in her Savings Bank
account which gives a simple interest of 3% p.a. With no other income or expenditure,

if she has ¥ 99,534 at the end of the second year, then x is equal to :
(a) 1,00,000 (b) 90,000
(¢) 1,20,000 (d) None of the above

5. Water flowing from a tap at a constant rate of r litres/minute can fill a cylindrical tank
in 6 minutes. A hole is made at the bottom of the tank so that water flows out of the
tank at a constant rate = one-third the rate of flow of water from the tap. When the
tank gets full, the hole gets sealed automatically. If the tank (with the hole) is empty
to begin with and water starts flowing from the tap at rate r litres/minute, how long
will it take for the tank to become full ?

(a) 8 minutes (b) 9 minutes (¢) 12 minutes (d) 18 minutes
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10.

Cc g gag I e waa fewrAr>0 9 | 3°

(a) C T UJ e forAe 93Jes © §98d &dl J Ao

(b) C T I3ISB WIS 3T 3 eAR U I3 I

(¢0 CTI3IB UG IT IR U I, e Aadr<1
(d CTISIB UG ST 3IAR UI 3T J, e Aag r < 2

B S IR S=8E B9 I ©F S9F Tf °J3 S99l J | IIAM g8 R
deer, Sfsfia w3 UfsH a9 7S J | des &8 397 ©f 10% gIg<t Jot I,
JAfefidar o8 S T 5% SIg< It I W3 A ads 39 &9 1% @O Jer I |
Ufen 996 &% f3nwrg €3ue © 39 &89 29% =@ Jder I | Add Ufsa isht
IIHMIT T IB I 5285 [IBIH I 3 fogt ggrimit § S8 BEt =931 I8 I3 &
BIF T IS F9 fda I ?

S9fdar TER @ yIY v 39 '3 ferfes I8 I w3 IF Je 39 S9ger o fret @
&% gege Ide I8 | 25 9939 JT '3 Yt fanast 70 gue w3 50 9939 JIT 3
60 gUE Y3t fand3t gran &3 AT I | A 100 9939 IR I6 3T Y fewast grad
S J=aT ?

(a) 45 gug (b) 50gug

(c) 55gug (d) Gudas T I& adt

73w, &g feadied Haegd § 30 feat & fie € €96 1700 gU@ T 36 o3
famr | for AN @976 €9 4 fes dig I fagr w3 di9 awg Ifae '3 15 que Yyt
s gaHe Sren™ fami™ | B9 & Yot 36T 18 foat & i3t ardl fagix g =it fos
Sl &% wifenr Hr | 8¢ wBT T § BF fes < with 3aug &3t AiEt At | i
fegrdieg & Y3t vl 9% Iaua ot /i 7 99 37 A '3 wEer /it »3 ae dig
I &It ger 7 2

(a) 2400 JUE (b) 3000 gug (¢c) 2700 gug (d) 2250 gu=E

10 fifet et x T 3/5 fJAr, w3 10 3 <0 I3 fife B « T 15 [T 90 J3er J |
WI1d 89 fox yare 22q[e © &drfee w3 20 fifet T J% 45 gue 990 d9T' J I «
THE A I ?

(a) 3 (b) 35 () 45 d 5
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10.

C is a circle with radius r > 0. Then

(a) the circumference of C can never be equal to its area

(b) the area of C is definitely greater than its circumference

(c) the area of C is definitely greater than its circumference except if r < 1

(d) the area of C is definitely greater than its circumference except if r < 2

A company uses rosewood for making chairs. Making chairs involves cutting, finishing
and polishing. Cutting leads to 10% wastage of wood, finishing leads to a 5% wastage
of wood and a subsequent 1% increase in the weight due to nails. Polishing leads to a
2% increase in weight of the finished product. If the total weight of the polished chairs
is 528.5 kg, what is the total weight of rosewood used for making these chairs ?

(a) Approximately 600 kg (b) Approximately 612-5 kg
(¢) Approximately 596 kg (d) Approximately 592-5 kg

The expenses of a boarding house are partly fixed and partly vary with the number of
boarders. The charge is ¥ 70 per head when there are 25 boarders and ¥ 60 per head

when there are 50 boarders. What is the charge per head when there are

100 Dboarders ?
(a) T 45 (b) <50

(¢) T55 (d) None of the above

Suresh, a daily wage worker, was paid ¥ 1700 during a period of 30 days. During this
time period he was absent for 4 days and was fined ¥ 15 per day for absence. Suresh

was paid the full salary only for 18 days as he came late on the other days. Those who
came late were given only half the salary for that day. What was the total salary paid

per month to a worker who came on time every day and was never absent ?

(a) T 2400 (b) ¥ 3000 () ¥ 2700 (d) T 2250

To reproduce an old photograph, a photographer charges ¥ x to make a negative,
three-fifths of ¥ x for each of the first 10 prints, and one-fifth of ¥ x for each print in

excess of 10 prints. If T 45 is the total charge to make a negative and 20 prints from

an old photograph, what is the value of x ?
(a) 3 (b) 35 (c) 45 (d 5
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11. “A9 "3 39 IAIMI3 Is |7 “TAST3 3 & WS &8 Uge &Jf i3t 7
IS |
(a) T3 3 WAS &3 USE &It Ae
(b) HI3 3 H WHS &3 USE Ae I6, ISII3 I8 IS
(¢) AI TAII3 B A3 IS
@) TFEWAS &8 UsE e & 3d oY IS
gz (yas 3: 12 315 B )
P,Q,R,S,T,U, V3 Waddrad HA © ey € 96 I5 fa fogt 9 99 =9a1 ©
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e T J3I I QI eI YI &Ji agT | R W3 W & fegard fAde < fenest goe I6 |
. ﬁ?{éﬂaé@awémﬂﬁwﬁéﬁ"mﬁmmw@éeé@avéﬂﬁwﬁeﬁ
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A 3 &1 26 |
e R W3 U 3G &df 968 | P W3 93 wargle fegarg i fanest Soer J |
R, d39 © HY UR 32 786 3 Sov J |
o Aoz 9933 waGle J, 8J A3T T SHTIE I &t I, S, II3 ¥ UA Sovr I
e R I ffa3ag | vV sa &t I |
e TRaSgg I IT,P T &I M &1 I |
o WJdldde, T T &aciel Mt J |
o I, U T Sdciat gmie! I |

12. I i &9 3= JIna © 3fediast 88 ferr ffo govr 3 2

(a) wIdiee (b) S c0 P d &g
13. I 3 fed e grdeazs »aGle © areiel gmieh § Targer J ?

(a) QU (b) R, T () Q,S d S,U
14. I R R 3 W3 P & fasas fegard Sevr I ?

(a) R (b) wWgeice (c) =urdt @ Q

15. Q T3 I St & fagzr 7o 3 2
(a) QST aacel e 9 ffa I
(b) ASI S I I Q T
0 QUYSUATAATS I Hdoerdwe
@ Q fo83gs% saete Il I Yerd &
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11.

“All quiet people are harmless”. “No harmless people are easily identified”.
The premises above lead to which of the following conclusions ?

(a) Quiet people are not easily identified
(b) Most people who are easily identified are harmless
(c) All harmless people are quiet

(d) Some easily identified people are quiet

Directions : (Question Nos. 12 to 15)

P,Q R, S, T, U, Vand W are sitting around a square table in such a way that four of them
sit at four corners of the square while four sit in the middle of each of the four sides. The
ones who sit at the four corners face the centre while those who sit in the middle of the
sides face outside. Each of them have a different profession viz. Professor, Architect,
Businessman, Doctor, Chartered accountant, Trainer, Banker and Coder. (None of the
information given is necessarily in the same order).

12.

13.

14.

15.

The one who is a Coder does not face inside. Only two persons sit between R and W.

The one who is a Professor sits on the immediate right of W. The one who is
Chartered accountant sits second to the right of V. V is an immediate neighbour of
neither W nor R. V does not sit third to the right of R.

R and U does not sit diagonally. Only one person sits between P and the one who is
Chartered accountant. R sits third to the left of the one who is a Coder.

The one who is a Chartered accountant is not an immediate neighbour of the one who
is Coder. S sits on the immediate left of the one who is a Trainer. V is not a Trainer.

T is a Banker. T is not an immediate neighbour of P.
Architect is an immediate neighbour of T.
Doctor is an immediate neighbour of U.

Who amongst the following sits diagonally opposite to Professor ?
(a) Architect (b) S (¢ P (d) Trainer

Who among the following represent the immediate neighbours of the Chartered
accountant ?

(a) QU (b) R, T (0 Q,S (d S,U

Who among the following sits exactly between W and P ?

(a) R (b) Architect (c) Businessman d Q
Which of the following is true regarding Q ?

(a) Qis one of the immediate neighbours of S

(b) Coder is an immediate neighbour of Q

(c) Q sits second to the left of W

(d) Q is an immediate neighbour of the Professor
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YHE 16 & I8 JI&5 B JoT YITTTHST HET € €95 o /

16.

17.

18.

S*TTHIBH SIEIT & |
S+TTHIZHEISITIT T |
S-TTH38Y SYSII T T |
S/TTH3SE SWI T
S=TTH33g STUTIT T |

SxTT H3IBT SHIT T |

Jof fi3 S forer H3Bsg I faP3cI Qe ?

(a) Q+R-P (b) Q*R-P

(0 P=Q+R (d P*R+Q

PlrgcdH$ 27 fco RodoAeer I 1 Q Bt oH 18 e’ Re g AST" 1 Q &
fad® It sl Jg &3 w3 =miE S P 8F &8 g7 fami fog &H 12 fea R uar I
Imr 1 Q& P a3 &8 fes g aH &3 |

(a) 3 (b) 5

(e 7 (d 6

WHS 50 Hied/fie & 9e39 &% 3T I | #fg3 5 file @ »i3T® 3 smiE Graer
fifgr agTr I W3 60 Hicd/fiie & 3239 &% B3 J | #fg3 © 37 70 Hied/fie
<l 9239 &% TIT I W3 HT3 © &8 It SF% Hg FIT I | I3 wHG 3T udger I
w3 fag ATz 3% Tur wger 3 w3 RT3 © wHe 39 udoe 39 wifdar ader Ifder
J | I3 W Hiea' K 3w I3t I8t I3 gt [t I 2

(a) 288 (b) 770

(c) 1400 (d) 1750
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Use the relations defined below to solve Question No. 16.
S * T means S is the sister of T.
S + T means S is the brother of T.
S — T means S is the son of T.
S /T means S is the daughter of T.
S = T means S is the father of T.

S x T means S is the mother of T.

16. Which of the following means P is the sister of Q ?
(a) Q+R-P (b) Q*R-P

(¢ P=Q+R (d P*R+Q

17. P can do a piece of work in 27 days. Q can do the same piece of work in 18 days. Q
started the work alone and P joined him later. The work was completed in 12 days.

How many days did Q work more than P ?
(a) 3 (b) 5

(o 7 (d 6

18. Aman runs at a speed of 50 m/min. Mohit follows him after an interval of 5 min and
runs at a speed of 60 m/min. Mohit's dog runs at a speed of 70 m/min and starts along
with Mohit. The dog reaches Aman and then comes back to Mohit and continues to do

so till Mohit reaches Aman. What is the total distance covered by the dog in metres ?
(a) 288 (b) 770

(c) 1400 (d) 1750

June 2023 (B-9)



TJETeT": (YAS 19 F'21) 3BT & BF € YF S4-8 J37" [€g w/shy’ Aee’ & @95 dge
JB T8 I H'E T RABHE &157 1 2018, 2019 W3 2020 €IS J& en-gwd © H'E (B4
25 [fg) I 1S3 579 e [0 IeHem oy &

19.

20.

21.

22,

BT THIT SW-BWE T AHS
18 16.9
15.8 —
12 ] 145
12.5
12 ) 11.2
12 8.6 7.4 7.7
6.1 5.8 5.6
61—/
15 %
‘2*' 2.3/ 2.4
Nl 7 2 %A % %

W 2018 2019 []2020

2018 — 2020 < fime € ©97%, faA 939 & WY & en-gndl & ©9 g &59 '3
A 2
(a) YIg (b) THE 0 €39ygs (@ €39

2018 f&g €39 €5, 2020 R9 €39 Yyag g @€ A T HB T WEHTSI HE &t I 2

(a) 31-16% (b) 36:02%
(c) 5844% @ Budas T A &t

IE A3 WS T st I 2
(a) 41-76% (b) 5216%
(c) 57-86% (d) 6587%

g Aaféar s g Jag faner waafen™ 21 Hied 3 © U3 ewd 4L Afdet ffg
A 3 | 8 JaAs (B 3A) At g 42 icg I © U3 &% w7 88 @A fds
Afde Saredt |

(a) 56 (b) 84

() 64 (d) 58
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Directions : (Question Nos. 19 to 21): Railways analyzed the goods transported using its
services across five different regions of a country. The total goods transported (in lakhs of
tonnes) during 2018, 2019 and 2020 are shown in the following bar graph.

19.

20.

21.

22.

Goods Transport through Railways

18 16.9
15.8 —
16 ] 145
i; 12.5 11.2 Z
10 | %
8 8.6 7.4 % 7.7
e 5; 5.6/ -
‘Zf: 2.3/ 54t/
0 % %A % %

North East South West Northeast
Il 2018 2019 []2020

During the period 2018 — 2020, for which region was the rate of increase in goods
transported second highest ?

(a) East (b) South (¢) Northeast (d) North

What is the approximate goods transported in North in 2018 to the goods transported
in Northeast in 2020 ?

(a) 31-16% (b) 36:02%
(c) 5844% (d) None of the above

What is the ratio of average goods transported in South in given three years to the
average goods transported in West in the same period ?

(a) 41-76% (b) 52:16%
(¢) 57-86% (d) 6587%

A skating champion moves along the circumference of a circle of radius 21 meters in
44 seconds. How many seconds will it take her to move along the perimeter of a
hexagon of side 42 meters ?

(a) 56 (b) 84
(c) 64 (d) 58
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TJETT" : (YASG 23 5 25) IS 63 U] 79, T4 T WEHISIH YIS P W3 Q 3 Hoe
WIRHSTIH & ETAEE I | 6 TH-H WElRISIH 8 @5 3 Agel Ied @5 & AIe] IFd 3’9
WIS STHTEWT [P & | P I8 wEFRITH € 38 HIT 250 [FSTH d W3 Q I&
200 HBGH T/

WETHSIIH U'I8d P (250 &)

WEHSIH UIsg Q (200 &)

18%
21%

11%

16%

13%
21%

———

23. UIBd Q ST A8 & faBdH R H3T w3 Ugsg P & w3ar Rg dt wizg 3 2

(a) 13 (b) 10

(c) 8 (d 21

June 2023 (B-12)



Directions : (Question Nos. 39 to 42) : The following pie chart shows the ice-creams present
at two different ice-cream parlors P and Q. The distribution of 6 different ice-creams by
weight is represented in table. The total quantity of ice-creams with P is 250 kg and that
with Q is 200 kg.

Ice-cream Parlor P (250 kg)

Chocolate
Vanilla

Strawberry

Respberry

Tutti Frutti

HEHNAZE H

Butterscotch

Ice-cream Parlor Q (200 kg)

@ Chocolate
510, 18% M Vanilla

N\
il Strawberry

16% @ Respberry

1% - 13% @ Tutti Frutti

e

23. What is the difference between the quantity of Vanilla in kg at parlor Q and that at

parlor P ?
(a) 13 (b) 10
() 8 d 21
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24.

25.

26.

27.

28.

29.

€I T WEHIIGH fagdf & 1 Q © HagS P © a5 W 3™ 9 I8 ?

(a) HCIAIT, TIBC (b) <&TT, ASEIT

(¢ =TT, IASS (d) TS, gt-aget

S IAadt w3 Aeradt & fIBH ff9 H3aT T Udsd P w3 Udsd Q @9 fdar
W3g I ?

(a) 22 (b) 28 (c) 23 (d 35

Hag A 8 I3 I6 W3 % 3 HIIH I6 3T J&F i3 aast fed faaz Ad
32

(a) A YIIH S Is

(b) AI I3 TS IS

(c) FIM fESw YIIH IS

(d) I8 HIIH I3 IS

A/B,C,D,E,F,GHW3IdWI IS5 | C,BR3faBHicg yga feg J 1A, B=
2 faitcg €39 e I3 H, A 4 fodfiegd edes feg 3 | G, H 3 2 fadites U
fegI A faD, G4 fodiicaygafeg I | FGR4fodiicg €39 fegd | B
W3 CR eI IAC [FE,HM3 DB fegard I | E w3 G fegdt gt &R 2

(a) 5fIHea (b) 4 fISHeg

(c) 3TfadHiea d 2 fa3ftes

s ¥A 93 37 f<8 UNIVERSITY ¢ YUJTSFWJOU f8femr Her J | @A 93 I
feg STRAWBERRY fa< f&femir Areqr 2

(a) YSSFCXBSUS (b) YSSEBWASUS
(c) YUSBXCFSSY (d) SUSWABESSY

wig 311311311311311311311 :

(a) 3 & 3 7 Faer I U 11 &S &It

(b) 11 &S U 7 Ao J U 3 '3 &It

(¢) 33 11 TS &5 3 7 Faer I

(d) I 3FTSNIEF I 11 & U3 7 Ao I
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24.

25.

26.

217.

28.

29.

Which are the two icecreams that are less in quantity with P than that with Q ?
(a) Butterscotch, Chocolate (b) Vanilla, Strawberry
(c) Vanilla, Raspberry (d) Chocolate, Tutti frutti

What is the absolute difference in quantity in kg of Raspberry and Strawberry
together at parlor P and parlor Q ?

(a) 22 (b) 28 (c) 23 (d 35

If all cats are dogs and some dogs are rabbits, which of the following statements must

be true ?

(a) All rabbits are cats
(b) All dogs are cats
(¢) All cats are rabbits

(d) Some rabbits are dogs

A,B,C,D,E, F, G, Hand I are nine houses. C is 3 km East of B. A is 2 km North of B
and H is 4 km South of A. G is 2 km West of H while D is 4 km East of G. F is 4 km
North of G, I is situated just in the middle of B and C, while E is just in the middle of
H and D. Find the distance between E and G.

(a) 5km (b) 4km
(c) 3km (d) 2km

In a certain code language UNIVERSITY is written as YUJTSFWJOU. How will
STRAWBERRY be written in that code language ?

(a) YSSFCXBSUS (b) YSSEBWASUS
() YUSBXCFSSY (d) SUSWABESSY

The number 311311311311311311311 is :
(a) Divisible by 3 but not by 11

(b) Divisible by 11 but not by 3

(c) Divisible by both 3 and 11

(d) Divisible neither by 3 nor by 11
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30.

31.

32.

33.

34.

15 WATHI 1947 & I3 © foga fios #t 2

(a) HIB=I (b) HULT
(¢c) Hadeg (d) <ged

3T W3T" BIG IA A © faad g gggdr weft § gt I R a8 g
ACSIT 3H © Ul 78 fFa U3 Ao i’ © Ho 318 €5 J | Ia3 596 & Jfm
JgaT J¢ A @A Uee I I 56 993 593 96 | @9 398 Sner 3, Il € ¥Y
UH, T A S I&H IS | I&H T An UR, a7 T I8H I6 | fIoFie © #n uR,
Aeficgs | ffcedg un ffga S e gs I 36 ag3 fagz I& ?

(a) fode T g8, foc T J&H W3 fie < g=t

(b) T T J&H, e e J&H, foe & I=t

(© TR (a)™3 (b)

(d) BuIa3z T 3 &t

Jo8t B3t T fagz wehfe 7 dag @ ¥a yA A3 wEe J |
A, 26, B, 25, C, 24, D, 23.........

(a) P () Q

(0 R d S

3 fdATT N, M w3 0 R ¥H & 996 3 gmiE Y3 I8 et § <3< JIol §Ia
$ 1240 B & I A IN § M B IR € 3/527 w3 M § 0 © IR T 2/33 fJmr
fiser I INT Gt I 2

(a) 240 (b) 324

(c) 254 (d) 468

XW3Y g8A e g g dae 96 | X, YT g9 5 I 3 7 9 93T J U 3
Tdmit &g fige s =9 g8H et § Jc ager I Afd Y I3 Se8<t o<t '3 g8
el § fde g I I wEE Y, 75 T U¥ AT I 3T X & g98d et § [t @9 fJe

3T 2
(a) 60 (b) 70
(c) 96 @ 120
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30.

31.

32.

33.

34.

What was the day of the week on 15th August 1947 ?
(a) Tuesday (b) Wednesday
(¢) Friday (d) Thursday

On your travels you meet an old man on the side of the road holding three cards from
a standard deck face down. Trying to make conversation you ask him what the three
cards are. He tells you, “To the left of the queen, are one or two jacks. To the right of
the jack, are one or two jacks. To the right of the club, are one or two diamonds. To the
left of the diamond, are one or two diamonds.” What are the three cards ?

(a) The jack of clubs, jack of diamonds, and queen of diamonds.

(b) Jack of diamonds, jack of clubs, queen of diamonds

(c) Both (a) and (b)

(d) None of the above

In the following series which element comes seventh to the left of number 7 ?
A, 26, B, 25, C, 24, D, 23,

(a) P () Q

(¢ R (d S

Three partners N, M and O distribute the earnings they got after doing a particular
assignment. They got an amount of T 1240. N gets 3/5t" of M’s share and M gets 2/37d

of O’s share. What is N’s share ?
(a) 240 (b) 324
(c) 254 (d) 468

X and Y play shooting in the bulls eye. X plays 7 turns to Y’s every 5 turns, but hits
bulls eye only once in 3 turns whereas Y hits bulls eye every alternate turn. When Y
has missed 75 times, X has hit bulls eye for how many times ?

(a) 60 (b) 70

(c) 96 (d) 120
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35.

36.

37.

38.

<0 3 2 A gt T@imit fdamit gedst Aftmret i T g fu 3 a8 3 2
(a) 461 (b) 457

(c) 462 (d) 125

H 8 Stz '3 © Aded =9, 8% RY & 109 89 '3 2fowr | A mD BT K9
48 12% T oHS Ifemim | EA AT '3 JT T wiTHe /W & H 2

(a) 13% Wrcr (b) 27% W

() 13% &I (d) 22% W<

HAHS WET T 8 fefenrge fed, AdHs SieT © 10 fefenrgg fod w3 AarHe T
T 12 fefowgsm &9 g wiftmnud W33-AI8 Sfed =S ST ASS < gHfdedt
3% B 3 Afent & S ge8@e grder I | S § ifrd fd& 3ol &8 s
7 e J i d 8 A9 Heg ffd Adns € & J€ 2

(a) 3664 (b) 396
(c) 4060 (d) 8120
JoB fI3a RO P &3 -

OO
OO
OO

(a) 2 (b) 4
() 6 (d 8
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35.

36.

37.

38.

How many natural numbers having at most five digits have a sum of their digits as at

most six ?
(a) 461 (b) 457
(c) 462 (d) 125

I sold two scooters at same price, one of them at 10% profit. I incurred total loss of
12% in overall transaction. What was the approximate profit/loss incurred on the
other scooter ?

(a) 13% loss (b) 27% loss
(¢) 13% profit (d) 22% loss

Out of 8 students in Section Alpha, 10 students in Section Beta and 12 students in
Section Gamma, a teacher wants to create a team of three to represent the school in
inter-school quiz competition. In how many ways the team can be formed such that all
the members of the team are not from the same section ?

(a) 3664 (b) 396
(c) 4060 (d) 8120

Find P in the following figure :

OO

(a) 2 (b) 4
(¢) 6 d 8
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T’ : (YAS &. 39 F42) BT AIS € 128 71T € Hz-AHAST Yiftmr e 53777 dH
FI57 6Py | B51H F HI I6TH HS | 3311 € Had Hi 52% F9I8 €0 UH, 49% BIFTH
189 W3 38% HIE IlImIe 1€ YA I8 | IS 9% IRTSw'THE] Be 1357 -1 €9 UH Jg /
FIIB W3 BIFTH [€T17% UH JE FoIB W3 Hie FIPs 189 16% UH I8 w3 BIFTH W3
Aie RIomes 189 15% U J81 Yifsm 8= &8 fefenwrasy & 137300 &'/

39.

40.

41.

42.

fHae 3918 feu fd& fefenrgst um 98 2

(a) 63
(b) 84
(c) 96
(d) 114

fHae 3418 feg uA JT =8 fefonrgdmi T 3 fige Hie-fefimis feg uH JT =8
fefenrgdgn e weu3 ©F |

(a) 5:6

(b) 4:5

(c) 8:7

d 7:4

i fefenrgst firf3ars ST 3t uH UfH3 i3 AT J Add 89 e 3 we B fer uA
I J | for iftmr S5 uH wisrs I fefenrggin & 3% fiest [t #t 2

(a) 30

(b) 90

(c) 64
(d) 82

A 39 3 w3 7t 39 3 © fefimi ffg um J @@ fefenrggvt e waus ot J 2

(a) 9:4

(b) 12:5
(¢) 10:3
d 11:4
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Directions : (Question Nos. 39 to 42) : In a school, results of 12t class mid-semester exam
were declared. All were disappointed with the results. The summary of the results was 52%
passed in Geography, 49% passed in History and 38% passed in Biology. Only 9% students
passed in all the three. 17% passed in Geography and History and 16% passed in Geography
and Biology and 15% passed in History and Biology. Number of students who took the exam
is 300.

39. How many students passed in Geography only ?

(a) 63
(b) 84
(c) 96
(d) 114

40. Find the ratio of students passing in Geography only to the students passing in

Biology only.
(a) 5:6
(b) 4:5
(¢) 8:7
d 7:4

41. A student is declared pass in the exam only if he/she clears at least two subjects.
What was the number of students who were declared passed in this exam ?

(a) 30
(b) 90
(c) 64
(d) 82

42. What is the ratio of students who passed in exactly one and exactly two subjects ?

(a) 9:4

(b) 12:5
(¢) 10:3
(d 11:4
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43.

44.

45.

46.

47.

48.

ARyeH € Js &3 AEe &Y fam € fegii, e w3 Agar © gy @9 fig
U Y f5y3t gersT S famir At 2

(a) TIBS (b) &fEHE" (¢ €I (d) MIF
IAHIT © fIA AAS & AI8H Sfanwr 3 o B8 968 T fagHe di3r ?
(a) BfE3fSf3r (b) feawfefanr
(c) MEIITIHS (d) FHITSIHS
HOl 1T ol [I &8 THE'S d9d 6 84 d3 (9 Adt €39 & 9T & -
Hol'l HY 11
(FteT = &) (FITSTAA)
A. Wfeedg 1. HJ
B. H3I&H 2. Ty (3T B®)
C. o&HoH 3. fags
D. YUdJdHASSH L. €8T
as:
A B C D
(a) 3 2 4 1
® 4 3 2 1
(c) 1 4 3 2
@ 2 3 4 1
Wi © f9a3 I5 B9 Hitesd I Wtae (2 9us) &g AftmrsHa Aftmr § meet
w3 fg33" ffg Gafanr famr 3 2
(a) HHST (b) JAI (c) WIIGI (d) Ugaramr

Py < =

J& Bftmit & IBFHS FH WA 188 3 I5 89 a3 &9 At €33 < I= a3 |

I. 3IHA &H ©T 3HA H'S
II. TEA3G-8 Hafo" ewdr HIfis Tat
1. fesg3aH T fHIr™ ©WTr HdHE IIAT

IV. FGH T Il 39 HIHE

(a) IV, ILIIL I (b) I III, IV, I

(¢) ILIIL, I, IV (d I,IV,IIL II

Jo fEfemit fod fam & 23 w3 A fomed o 1% feafizg |isr ?
(a) WU SEE3T (b) &IfeE I

(c) JWETE (d) HTOSTIM

June 2023 (B-22)



43.

44.

45.

46.

47.

48.

In which of the following place of Mesopotamia the textual reference for Indus Trade
in the form of Dilmum, Magana and Meluhha was reported ?

(a) Halaf (b) Naisuna (¢) Uruk (d) Akkad

Which of the following ruler of Kashmir constructed the channels for irrigation on
Jhelum river ?

(a) Lalitaditya (b) Vinayaditya

(c) Avantivarman (d) Sankaravarman

Match List I with List IT and select the correct answer using the code given below the
lists :

List I List IT

(Name of the Jina) (Cognisance)
A. Adinath 1. Snake
B. Shantinath 2. Conch shell
C. Neminath 3. Deer
D. Parshvnath 4. Bull
Codes:

A B C D

(a) 3 2 4 1
(b) 4 3 2 1
() 1 4 3 2
d) 2 3 4 1

Which of the following Minor rock Edict of Ashoka engraved the numerical number
both in words and figures ?

(a) Maski (b) Gujarra (c) Ahraura (d) Panguraria
Arrange the following in a chronological order and select the correct answer from the
codes given below :

I. Tahmas Namah by Tahmas Khan

II. Dabistan-E-Mazahib by Mohsin Fani

ITII. Ibaratnamah Mirza by Mohammad Harsi

IV. Jangnamah by Qazi Nur Mohammad

(a) IV, 1L III, 1 (b) ILIILIV,I

(o ILILIL IV (d LIV, IILII

A reconciliation of Vedanta and Shaivite beliefs was developed by which of the
following ?

(a) Appaya Dikshita (b) Narayan Bhatt

(c) Raghunanadana (d) Madhavacharya
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49.

50.

51.

52.

o

I.

II.

III.

IV.

(a)
(c)

feAadId ATHIH 979 g3 38 At I ?

W3t § UfgBe s, A3ET w3 3Ry g9 Aeddl T Tfenl @ fouas |3
qJer A

feRadd 7igd © H3 313 75 |

wWHSHTEYET, fIRS fqHaeed™ enrar Ifgnr famr faar Afer 3, Jare &
i3 Jeded I AT JJe A |

TIIE I & WUEl 2 R0 HABH'S fouas a3 A |

fAIe 1L, I w3 IV (b) fAIT I, I3 IV

fRge I, 113 11 (d LILIIW3 IV

(ST 98 ©gT feaseat Yol e I fBdmit {9 faadmit Iaeism &t
S Iremf ?

(a)

(b)
(c)

(d)

EHS 83 wAdisHet eargr Afsat § Ieudt 2 & et § 598 3T fARd g
e fgar Aer J |

THSTT, WiHJt foTast © urgd, fea3eat © fd J9 Aya AT |

Hafswt 28 w2 faurdt § mits & Gu-nAdioie & yordt & mg &St
e |

EFS WAdGAST © Ji9-39T8 § A 58 B 1T |

J& it weese' & IBAHS fH weHS B |

I Ufgs Wy fid oo

I T Jd&fed ga

1. Ufgsr wieB-AHg WY

IV. Ac B e &y

(a) L IL IIL, IV (b) II,1,1II, IV
(¢) IV,IIL 1L II (@ IV, II, I, I
HI-fHe morgr T Gen At :

1. Jdud feu feus ufgne @ Haat <&t foresdt e er

II. HASHS S8 24T Je-H3S

III. g fearensT feg T3t Bgt Iaeit Ftet

Iv. fAfemr T ygrg

Jo 53 Az fed At €39 S g a9

(a) ARG I3 11 (b) fHIE III W3 IV
(¢) fAIS 1,11 w3 III (d I IIII W3 IV
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49. Which facts are true about Vijayanagar empire ?
I.  Women were employed as wrestlers, astrologers and soothsayers.
II. The city of Vijaynagara had seven citadels.

ITI. Amuktamalyada, said to have been composed by Krishnadevaraya, commends
Brahmans as Provincial Governors.

IV. Devaraya II had appointed Muslims in his army.
(a) 1II, ITI and IV only (b) I,II and IV only
(¢) I,1II and III only (d) I IIIII and IV

50. Which of the following changes in the Iqtadari system was not introduced by Firoz
Shah Tughlaq ?

(a) He restored the system of payment of salaries to soldiers by land assignments
now called wajaf.

(b) The wajafdars, holders of such assignment, were another group of Iqtadars.

(c) The system of sub-assignment of land by muqtais to their soldiers was also
started.

(d) He rigidly enforced the non-transfer of assignments.

51. Arrange the following events in chronological order :
I.  The First Anglo-Sikh war
II. The Second Carnatic war
ITII. The First Anglo-Mysore war
IV. Battle of St. Thome
(a) L 1II, III, IV (b) IL L III, IV
(o IV,ILLII (d IV, ILIIL I

52. Morley-Minto reforms aimed at
I.  Increasing number of members in Legislative Council at Centre
II. Separate electorates for Muslims
III. Reserved seats in Provincial Assembly for Dalits
IV. Promotion of education
Select the correct answer from the codes given below :
(a) TandII only (b) IIT and IV only
(¢) I, II and III only (d) I II, III and IV
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54.

55.

HO I HOI 11

(BHS Hfswq[fg T AEms) (&537)
A HEEYT 1. 3Jursyg Sodt
B. €3w 2. H. IAIUSOI
c. 3ITHBag 3. o IBNUS
D. fagg 4. HITE IS AJS
I& &3 fegsut fed ATt €33 S o o :

A B C D
@ 1 2 3 4
b 2 3 4 1
© 4 3 2 1
@3 1 2 4

J& feimit fed weg g9 f5gz s86 ATt I8 ?

L
II.

I1I.
IV.

1801 fRT e €3 AafH3St waTER Sfowr famr At |

1851 39 weT 99 93 IBIHI T FES H, ‘I 7 A3 o f9 4 foa
[ECICI

weg $ It 39 3 1876 R9 Kfer AHI™ &% fHgfanr famr |

‘HIG 9 7o foas el AP, feg feggy a2y Tfie wEdt 7 S8 i3 famr
fTHS TIAHG © ST76 Kt 3 I 3T famir w3 I8e3 A8R36 og f3m famr |

Jo A3 I3 R AR €3a S TT a3 -

(a)
(c)

I, II W3 IV AJt I& (b) L IIW3 I AJt I&
I1, Il W3 IV Adt I& (d) L II III W3 IV AJt I&

TS fHAS WHe g9 a3 A9 I& ?

I

II.

far & feewlt HHIEW, Sfemim w3 Ho'g § ScI® 596 T8I IHHT el AT ©
&% 3o Uodt Ay & fRega aist |

Afeos AT & 9T Jofewr HEE wATShr § S Adms fg Sfamr
72 A ([dT sgfoest @@ 79), B (@%WWWWR@)WC

(@%wﬁmmwm)l

I1L. WWW%@WWK&M@%?WW%?
fgarg J<4r |

1Iv. for worg '3 I9I9A & Hgg 1947 €9 U § @ — yAfsH Sgforest dait »3
faar |

AS €33 S g a9 :

(a) fAIE I3 1 OERLCCARIRERT

() fHIZS I, I3 1V @ 1, 3V
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53. Match the following :

S aw»

List 1 List I1

(Salt March Place) (Leader)

Malabar 1 Gopabandhu Chaudhary
Orissa 2 C. Rajagopalachari
Tamilnadu 3. K.Kelappan

Bihar 4 Mahadev Lal Saraf

Choose your answer with the help of the given options :

(a)
(b)
(c)
(d)

A B C D
1 2

W &~ DN
H o o
N DN &~ W
TGN

54. Which of the following statements about Awadh are correct ?

L
IT.

I1I.
IV.

The Subsidiary Alliance was imposed on Awadh in 1801.

“A cherry that will drop into our mouth one day” was stated by Lord Dalhousie in
1851 about Awadh.

Awadh was formally annexed to the British Empire in 1876.

“The life was gone out of the body” was lamented for Nawab Wajid Ali Shah who
was dethroned and exiled to Calcutta on the pretext of misgovernance .

Choose the correct answer using the code given below.

(a)
(c)

I, IT and IV are correct (b) I, IT and III are correct
II, IIT and IV are correct (d) I, 1II, III and IV are correct

55. What are true about the Cabinet Mission Plan ?

L

IT.

III.

IV.

It recommended a three-tier confederation with a weak Central Govt. controlling
foreign affairs, defence and communication.

Provincial Assemblies while electing Constituent Assembly be grouped into
three sections : A (Hindu majority provinces), B (Muslim majority provinces of
North-West) and C (Muslim majority provinces of North-East).

Grouping to be compulsory at first but provinces have the right to opt out after
new constitution and elections.

On this basis the Congress in March 1947 divided Punjab into two — Muslim
majority West and Hindu/Sikh majority East and asked similar application in
Bengal.

Choose the correct answer :

(a)
(c)

I and II only (b) I, II and III only
I1, IIT and IV only (d) LII,III and IV
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56. BJI AF® fia AaudH, fanwrA, I< w3 g™ fuds fHg &<t o fiee Ia .

(a) YUfaAs® &g fHorade

(b) UfIAss &g fmrsae
(c) II3 &g I

(d) 393 T fiade

57. Hol I W3 Fot 11 T fHE's o3 W3 AJl WiHs g

Aol 1

(He=a")
A. THRAJ H'S T HIGT" 1
B. gHY T HI=I" 2
C. TIINT T Hagd 3.
D. HIHE AfHE W3 I+ AHS © HagT™ 4
as:

(a)
(b)
(c)
(d)

58. fomst ASHES 99 I35 89 I8 s &8 UF -

N A NN
AW W
R e
N N

I T3 I SH9H W3 BY IJiE Helgdid 1551 Al (<O forst HsfAd © get A3 Ao |
II. »ARd © H3 Aftgels 3 i @ fsanels wighr, fast & Ho 393 »i3

Hol 11
(HE'S) ,
HJEd" 941 63 8'Jd

g

A80d &g aavg

st

IJHAES €9 ferAs™ T yo'a &3, 2 fonst Heid &% A8us 76 |

III. CHl © H83® & Hew IZI-ME-Tl6 SHISWT Jdl § AY-wS-feAs™H © wige
<t OHSH ISt U9 A ITHAISS mHEME '3 forst fegmds St Srémir ursidhr
II6 ferd ALl d96 3 feasg a9 i3 |

V. 7Y fsaels g & 58t § fordh T 9= Acg g=gt 88 593 a3

3 e 3T |
Suda3 fed faa3 J8a Adt I ?
(a) THIE IL, III W3 IV
(b) THEE I, I W3 IV
(c) THIS I, 11 W3 III
(@ fAge [, I3 IV

June 2023 (B-28)



56. The place where Jhelum, Beas, Ravi and Chenab join together into Indus River is :
(a) Mithankot in Pakistan
(b) Sialkot in Pakistan
(c) Kalakot in India

(d) Srinagar in India

57. Match List I with List IT and choose the correct option :

List 1 List I1

(Tomb) (Place)
A. Shamsher Khan’s Tomb 1 Shahdara Bagh, near Lahore
B. Humayun’s Tomb 2 Batala
C.  Tomb of Jahangir 3. Nakodar in Jalandhar
D. Tomb of Mohammed Momin and 4 Delhi

Haji Jamal
Codes:

A B C D

@ 2 1 38 4
(b) 2 3 1 4
() 4 3 2 1
d) 2 4 1 3

58. Read the following statements about Chishti Silsila carefully :

I. Data Ganj Baksh and Shaikh Farid Shakar Ganj were Sufi saints of Chishti
Silsila in 15th century.

II. Saint Moinuddin of Ajmer and Nizamuddin Auliya of Delhi, who spread Islam in
central India and Rajasthan, also belonged to Chishti Silsila.

ITI. The Sultan of Delhi offered the post of Shaikh al Islam to Khwaja Qutub-ud din
Bakhtiar Kaki, but he denied to accept it owing to the restrictions laid on
political involvement by the Chishti tradition.

IV. Shaikh Nizamuddin Auliya, lived and worked arduously to make Delhi as the
nerve centre of Chishtis.

Which of the above statements are correct ?
(a) TII, IIT and IV only

(b) I,II and IV only

(¢) I,1I and III only

(d) I, IIT and IV only
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59.

60.

61.

62.

Hol I W3 Hot 11 T 18 o3 W3 At WiHs g8

HO I HOT 11
(YA3) (BHd)
A INSAETS 1. i3 fiw
B. W fiz 2. fiE yisn
C. JA feae 3. TIY A feeer
D. &dr U9t T Agg 4. OBS3 Irgdn
as:
A B C D
@ 1 4 3 2
® 4 2 1 3
¢ 4 1 2 3
@1 4 2 3

“Urrslt ared < d3F Tl @ dT HEII I ?

(a) & fouIsH (b) M3 Yi3H
(c) THY AT fearer (@ wifi{3r ASfis
Fad 8 UH Jo Bftmi &g fd" 2rf et Agdet fegarg AfEz 3 2
(a) I3 3 USHIS (b) III I TS
(c) II3 3 WMATGASS (d) I3 3B
Hol 1 $ Hot I &8 &S daT I8 gomit I6 89 33 fed Adt €33 ¢ |
Hol 1 Aol 11
(BIHS Ued ACH®) (AE®)
A fAs 1. IAa3
B. d9% 2. E3HEg
C. uUJd 3. HJIIHII
D. fe&g 4. IHBSZ
a3
A B C D
@ 3 2 1 4
b 1 2 4 3
© 1 2 3 4
@ 4 3 2 1
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59. Match List I with List II and choose the correct option.

List 1 List I1

(Book) (Author)
A. Gagan Mai Thal 1 Gurdit Singh
B. Mera Pind 2 Amrita Pritam
C.  Rasidi Ticket 3.  Dalip Kaur Tiwana
D. Nange Pairan da Safar 4 Balwant Gargi
Codes:

(a)
(b)
(c)
(d)

=R = D
i RN o o

C
3
1
2
2

W w w N>

60. Who is popularly known as “Punjabi Natak di Nakkad Dadi” ?
(a) Norah Richards (b) Amrita Pritam

(c) Daleep Kaur Tiwana (d) Amrita Shergil

61. Lanak La Pass is located near the border between which of the following countries ?

(a) India and Pakistan (b) India and China
(¢) India and Afghanistan (d) India and Nepal
62. Match List I with List IT and select the correct answer from the code given below the

lists.

List I List I1

(Thermal Power Station) (Location)
A. Sikka 1. Gujarat
B. Korba 2. Chhattisgarh
C. Parli 3. Maharashtra
D. Ennore 4.  Tamil Nadu
Codes:

A B C D

@ 3 2 1 4
(b) 1 2 4 3
() 1 2 3 4
(d) 4 3 2 1
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63. HO' I & HOl Il &8 & gge J¢ HoM J5 1By 93 fd Adt €39 B2 |

Bl I Ho I
(SIS AHI) (FE®)
A, AHET 1. HSHMr
B. HJH 2. YI=t wigdler
C. HASH 3. U+ whirs Sffic
D. faafoa 4. WO g
as:
A B C D
(a) 1 2 3 4
® 1 3 2 4
(c) 3 2 1 4
@ 4 3 2 1

64. IS B TS it 7Y 3 I I et it E18T S Ut € H3TT @ wgre '3
WSR H WeHT 184 |

1. 898

IV. 3&drfsar

(a) I&EIMES - HEI - MATMI - FEg8

(b) HI - I&IMST - MATT - 88

(c) SEES - AUIdMT - 3&IMGaT - HB=T

(d) SEES - IS - MAIMG - HE=T
65. I8 $ IGE T UFM W3 FITS AHIIET @ W'd 3 0T oH WoAT feeAfas a3 w3

A fegsy 9T |

I. Ue

II. dJede

III. ST asT

Iv. f&drsde

(a) L IL III, IV

(b) I, IV,III, II

(¢) IV,IILIL I

(@ L II, 1V, I
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63. Match List I with List II and select the correct answer from the code given below the

lists.

List 1 List IT

(Tribal Group) (Location)
A.  Semangs 1. Malaysia
B. Boros 2.  East Africa
C. Masais 3. Western Amazon Basin
D. Kirghizs 4. Central Asia
Codes:

A B C D

(a) 1 2 3 4
(b) 1 3 2 4
() 3 2 1 4
d 4 3 2 1

64. Arrange the following largest fresh water lakes of the world in descending order of
their volume of water.

I.  Superior

II. Malawi

ITI. Baikal

IV. Tanganyika

(a) Tanganyika - Malawi - Superior - Baikal

(b) Malawi - Tanganyika - Superior - Baikal

(c) Baikal - Superior - Tanganyika - Malawi

(d) Baikal - Tanganyika - Superior - Malawi
65. Arrange the coal in increasing order of the stage of formation and carbon content and

choose the correct option.

I.  Peat

II. Graphite

ITII. Coking coal

IV. Lignite

() L IL I IV

(b) LIV, II,II

(¢ IV,IILILI

(d) IILILIV,I
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66.

67.

68.

69.

HOl 1 § HO 11 &% fH8's g9e J¢ goMi I5 18y J3 fed Adt €39 52 |

Hol 1 Hot 11
(US) (dEMIt/Tregd T731H)
A TS 1. gIHU39
B. Usa 2. Bfg3
Cc. fefewrAag A3 3. Ud A
D. 396 Idfdar AZ 4. JIS
as:
A B C D
@ 4 3 2 1
® 1 3 4 2
© 2 3 1 4
@ 2 1 3 4

‘THhrfed B (19) Jifdscdsans Yaae 9793 Adad ©f i ufgsaet I 7
eHhrfed Brfmis (A9) & Uad YUt @ HithiH &8 Hais 1&g w@y It 3 aaftmr
YT's d96 B9 J | for JAde 3193 Is B met fed fon § A9 < wae! 3d
o<l foem Aars Hfenr AT I 2

(a) JcEED SHGS UdS (b) HfgHST 2ElaIg fadg<
(¢) & THBI TES AcgI (@) TO TSI FEHE AGgar
I fSfmit feg Ue T fauz™ 391 ard =78t &8 eI der I ?
(a) U3 (b) VB (c) RIS (@ HAfeaHr
HOl I © HO! 11 &% H8'& S9e J€ HoM J5 158 93 &Y At @39 & g ad -
Hol 1 Hl 11
(Tg=t Hie839) (fearer)
A fTEus 1. Ayfenr
B. H&H 2. WJETUS YySH
c. feotar fegtar 3. WHH
D. &9 4. SFF
as:
A B C D
@ 4 3 2 1
® 2 1 3 4
© 2 3 4 1
@1 2 3 4
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66. Match List I with List II and choose the correct option from the code given below the

67.

68.

69.

lists.
List I List IT
(Bridges) (Rivers/ Water bodies)

A.  Bogibeel 1. Brahmaputra
B. Pamban 2. Lohit
C. Vidyasagar Setu 3. Palk Strait
D. Bhupen Hazarika Setu 4. Hooghli
Codes:

A B C D
@ 4 3 2 1
(b) 1 3 4 2
() 2 3 1 4
d 2 1 3 4

The Asiatic Lion Reintroduction Project is an initiative of the Indian Government to
provide safeguards to the Asiatic lion from extinction in the wild by means of
reintroduction. As part of this project which of the following sites is considered as
potential habitat for the lion population ?

(a) Ranthambore National Park (b) Sariska Tiger Reserve
(¢) Kuno Wildlife Sanctuary (d) Dandeli Wildlife Sanctuary

In making the saffron spice, which one of the following parts of the plant is used ?
(a) Leaf (b) Petal (c) Sepal (d) Stigma

Match List I with List II and select the correct answer from the code given below the
lists.

List I List IT

(Biosphere Reserve) (Location)
A. Simlipal 1. Meghalaya
B. Manas 2. Arunachal Pradesh
C. Dihang Dibang 3. Assam
D. Nokrek 4. Odisha
Codes:

A B C D

(a) 4 3 2 1
(b) 2 1 3 4
() 2 3 4 1
d 1 2 3 4
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70. AQOHST UfguAs 99 J6 Bt &9 fagz g8s At I8 2

L
II.

III.
IV.

(a)
(c)

Sfarfed Aded & g9 =T8T |

HAST WEE S8 TF € A% H'II W3 STIHT ©f AJL3H 93 3o |
fogur3 e Seedst 939 f<u SEZ feafis a3 |

I TEE BE 5 demif gegdrdt fedfi3 agamif |

fHge IwW3 IV (b) fHIS L, IIWM3 IV

fHIS 1, I W3 IV @ LI, w3 v

71. USE 9 993 I8 4G W3 5G HI'd TIMS Hy wisdh T wis @9 eIas &t
dae ?

L
IT.

I1I.

IV.

(a)
(c)

4G &9 mA3 100 Mbps 39 I A 4 5G <8 £ 20 Gbps ST J |

4G 89 37t 50 fHE Afdz I A 3 5G fo feg 1 fHEt Afdz I

4G &g S3fe3" 200 MHz 3 500 MHz I A< & 5G &g f&g 600 MHz 3 2-5 GHz
I

IS 39 FABS FTIH 5G deedd &8 4G R o J |
fAge 1 (b) fHIS 11 w3 11
fAge 11 (d) fAge HIw3 IV

72. 3Tl TIY &% AEO3 J& I3 IEst 9 fFI3 At I8 ?

I

II.

III.

IV.

wigoH fefomirdt I5dc (Irgge) wia AflE & 1850 fenr &9 Haorcg, fads
&g gerd Iarfee fefomrs © W witmles €8 3=t @9y A= ©f <93 i3t |
gg3 AIit Hehit @ nid w3 g0 8T H'S At I8 AC Ut Wi Sa1sdT 5.0 3 We
EuSiko il

WH 39 '3 TIPe, ABHG W3 IJ I He 5-0 Uit Wi 3w Jod' s&t A3 3
g Iud Jemit Is |

FIY, Irg, AFI 3 II W UAT it Are @8t Heht & mitre 5:0 3 uie
Ul Y09 '3 <0 AeTaHls® gemif I6 |

I fEfimit ST A 3 gae €39 & I a3 |

(a)
(b)
(c)

fHge 1, I3 111
A9 I3 11
fAge 13 111

(d) fAgS L, I3 IV
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70. Which among the following are true about Sagarmala project ?

L
II.

III.
IV.

(a)
(c)

To enhance the performance of logistic sector

To optimally utilize the country’s waterways and coastline for cheap
transportation

To develop SEZ in the coastal areas for export

To develop 5 new ports to increase trade

IT and IV only (b) I, II and IV only
I, III and IV only (d L II,III and IV

71. Identify which do not truly describe the major differences between 4G and 5G

communication :

I. Speed in 4G is up to 100 Mbps while it is up to 20 Gbps in 5G.

II. Latency in 4G is 50 milliseconds while in 5G it is 1 millisecond.

ITI. Bandwidth in 4G is 200 MHz to 500 MHz while in 5G it is 600 MHz to 2:5 GHz.
IV. Presently geographic coverage is more in 4G than 5G network.

(a)
(c)

I only (b) II and III only
I1I only (d) III and IV only

72. Regarding acid rain, which of the following statements are correct ?

L

II.

III.

IV.

English scientist Robert Angus Smith coined the term acid rain in his studies of
air chemistry in Manchester, England, in the 1850s.

The eggs and young of many fish species are killed when the pH drops to about
5-0.
Trout, salmon, and other game fish are usually the most resistant to pH levels

below 5-0.

Carp, gar, suckers, and other less desirable fish are more sensitive to pH levels
below 5-0.

Choose the most appropriate answer from the options given below :

(a)
(b)
(c)
(d)

Only I, IT and III
Only I and IT
Only I and III
Only I, ITI and IV
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73. B AS Tuel GHIBHG (SMenAG) R I Bitmit wear=t & Adt 91 <T 376 -
I JI9H Ut Y9 8 THEl Wit 2% 2fder I
II. JSHUS &% ugBssrge AT I
III. JI9H I <0<t I, fn &% We Tamy 3 37t grfgm et 9
IV. WeJdt I, 85 T=™ W3 JI9H, YA HAH T I36 gt J
I fEfimit &9 A feasy € 9T a9
(a) 1,1V, III, II
(b) 1, IL, IIL, IV
(0 LIILILIV
(d) I, IV,II III

74. TIST T QI HIBS '3 feAe YIret € HYy {9 W9ns © Iot i3 Eet &Y faa3
I IS ?
I fogs™ T Ao IFeHs © fi3E 5% Wse3 We Age” I w3 fig oa3t &t A3T ©
méwﬁ?él
. fos € IFEHE © HHE 58 AFGd 39 '3 TUHIS © IUHG § 0 Ade I W3
ﬁ?ﬂdq'ééuddﬁégﬂﬁgm@aﬂ:%w@éaﬁ;@uaﬁgm
TYHIT {9 Gar © HUBd TtAed & Wege I6 |

111 fo' @ goAl ISens © fizge o8 nigez Ko oo J Ao I w3 frg aast &
mémawwél

V. fo' € ISHS © AHE &% AEGA 39 '3 TPHIS © IUHG & WS AT I W3
%HW@?WWWWH@GWSW@%@W?W
WB&@GW@WE’WEHS@T@@%I

EuIa3 FEE fFY faaz I86 At I& ?
(a) fAIE I3 11
(b) fAge I3 11
(¢c) fAgS I W3 111
(d) fAge U3 1v
75. IIS/HIH A AJsmies 3 31 wiewtfes 939 © &3 urehit 39 II9H UeEt 8 At
J, g fogrAer I
(a) JABIISM I (b) IIHE I
() AIAHUBI ACH (d) dJIBSASH
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73.

74.

75.

Arrange the following in the correct sequence of events in El Nifo—Southern
Oscillation (ENSO) :

I.  Warm water flows eastward to South America.

II. Upwelling blocked by warm water.

III. Warm air rises, causing low pressure and heavy rainfall.

IV. Descending air causes high pressure and warm, dry weather.
Choose the correct answer from the options given below :

(a) LIV,IIL1II

(b) L II III, IV

(oo L ILILIV

(d I, IV, II, III

Which of the following statements of aerosols are true with respect to its effects on the
Earth’s energy balance ?

I.  Their scattering of solar radiation may decreases the albedo, and that decreases the
Earth’s surface temperature.

II. Their absorption of radiation may locally increase the atmospheric temperatures
and thus both increases the radiant energy directed towards the Earth and
decreases the convective transfer of energy from the earth to warmer atmosphere.

ITI. Their scattering of solar radiation may increase the albedo, and that decreases the
Earth’s surface temperature.

IV. Their absorption of radiation may locally decrease the atmospheric temperatures
and thus both decreases the radiant energy directed towards the Earth and
increases the convective transfer of energy from the Earth to warmer atmosphere.

Which of the above statements are correct ?
(a) TIand III only

(b) TandII only

(¢) II and III only

(d) II and IV only

The current/stream that carries warm tropical water from Caribbean to the cold waters
of North Atlantic region is called :

(a) California current (b) Kuroshio current

(¢) Circumpolar stream (d) Gulf stream
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76.

717.

78.

Jeds &3 gfHAs © Avas fRu I fdt a3t '3 fegg ad |

I 2o & 3% S S Gehs W3 I fegad €3 7 83« fegarg 3t Al I w3
Tt e @ T Awgt € 9 fegerg 27 |

II. 9 A3 7 3793 T ez 3 &9 gt © Wdle & Jfie-frs-23 § fouisfas
SIT IS w3 ARTs T wigex 270 © 3f93 I+ § B € HEIE < Jfe-fes-23 2
U &9 nier StESmif Jre gt e |

III. 9 T €3 IfEs enirgr S fagrart © wiarg '3 I €9 Ugrfest w3 a4
UriBret € AIST ©F YISt B8 IH © A3 3 § <UgT BE 41T U™y |

(a) IW3II (b) MIWIIII

(c) IWIIII (d L IIW3III

WHATISS i & IfTASHS BEt 8- Uges 979 Is %8 986 feoa

I feA $ 593 Hzaw 28 &g i3 famr #t |

II. HS IfACIy i § Agad @it fu-2d AW BIfmir Ure=’ (AR
U, 7JH Wl He-Ts UHeT) ©F 89 8T 38 aiedns wage &5d (UAN)
TS E-IH F9F Al SIS AT |

III. WIHIZTS aed a3 B 13 J€ 3 A AgE "id3™ © HeS @9 5 3y gue =
WHETE WIS © HHS R 2 & gue & feeme |

J& 59 I3 S Adt @39 S I & -
(a) fAge IW3 11 (b) fHAIS 11 W3 111
(¢) fHAIE I3 III (d) I, 1I%3 III

HAES 578 GfdoT S8 WyUse Je I6 ?

1. g Con g 983t © & fanrd T § weger
II. S93 W3 369d egQs 3 Ag e

III. AISI HaQ feg =

Iv. <3t 8309 § weger

(a) IW31I (b) HTIW3IV
() IWI3III (d IW3IV
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76.

717.

78.

Consider the following Terms of Reference for Fifteenth Finance Commission.

I.  The distribution between the Union and the States of the net proceeds of taxes
which are to be divided between them and the allocation between the States of
the respective shares of such proceeds.

II. The principles which should govern the grants-in-aid of the revenues of the
States out of the Consolidated Fund of India and the sums to be paid to the
States by way of grants-in-aid of their revenues under Article 270 of the
Constitution.

III. The measures needed to augment the Consolidated Fund of a State to
supplement the resources of the Panchayats and Municipalities in the State on
the basis of the recommendations made by the Finance Commission of the State.

Select the correct answer from the code given below :
(a) TandII (b) II and III
(¢) TandIII (d) I,II and III

Consider the following statements about E-Shram Portal for registration of
unorganized workers :

I. It was launched by the labour ministry.

II. All registered workers shall be issued an e-Shram card with Universal Account
Number (UAN) to avail benefits of various social security schemes of the
government (like PM Shram Yogi Maan-Dhan Yojana).

ITII. Provision of accidental cover of ¥ 5 lakh in case of death or permanent disability
and ¥ 2 lakh in case of partial disability.

Select the correct answer from the code given below :
(a) IandII only (b) II and III only
(¢) TandIII only (d) I, IIand III

Which of the following policy measures does a government usually take to boost
demand and support the economy in deflationary situations ?

I. Lowering interest rates together with cutting direct taxes
II. Emphasizing savings and enhancing salaries

ITI. Increasing government expenditure

IV. Going for tapering of fiscal stimulus

Select the correct answer :

(a) TandII (b) III and IV

(¢) TandIII (d TandIV
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79. ‘TFIUIC AHAS fAnedl g9 I& B9 us fegd |

I AUd3 IHCT Geufdid fedr Hiles 28 fog ysus © Hawy @ Uuflgs s dist
A< I fane 3fo3 @ WU fJ3o9d &8 IBe3 9 AHAe 3 @3ede Audr
H G0t & 2otz d9< I& |

1. fog ft <91 3 fr It Hater anr It Ut 3 8Re fJATT @R AW § 99
TYA T Ade fiA fY 89 Ha'e™ IH 39 I& |

I Suahrt @ wlee 2013 & ARG, § Hgat &3 Ifmr 3

IV. SUS o @ AdHS 135 © WoH'T Add I3 aUd fArer &< @98 T 1000 37
AT g A 2 2000 IIF T I6 G A O A T 5 IIF T I8 HE'S A 21, a7
& AEE 3 A &g afonr 3 3F @R vy g9 &3 7 Qg uie 3 uie
2 YStH3 WA &9 &Y Hau ddo’ USdr A @ Judt & usd 56 Ag' feg
IHonr I fIAS FL AN, &9 TR famr 3

Jo 89 3z RS At €39 & 9 a9 -
(a) fAIS L II w3 10 (b) fHIS IL I3 IV
(¢) fASES LI W3 IV (d) I,ILIII W3 IV
80. TITH JIA I, Jicn T I8 Iz By &Y faga @ Re AfEs 3 2
(a) ITIAIS (b) IATTIAIS
(c) IIANfGHAIS d) EmSfdA3s
81. Iz Bitmit i&F fogz B35 BJ9 T WI I3 TUI Hfewr Aer J ?
(a) Ud TEIgIg forAde (b) JAfere fadde I 9AT
(¢) IAH SHES Udd (d) ITIC SHOS Ud

82. ZIBS T (BoP) W & A 3 Wie 3T 7 Aaer J 2

I W3 HEI T WeE

II. TIHe 3gd =uge

III. WIG G3uea § foaus ASfHSMT YTre Sdar
Iv. feen 3 6ug der

Jot fid3 I3 T @33 J9a At €33 Te
(a) fAGe I3 I (b) fAIE I3 I
(¢ ARG I3 IV (d) I,IIW3 III
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79. Consider the following statements about ‘Corporate Social Responsibility’.

I. The United Nations Industrial Development Organisation defines it as a
management concept whereby countries integrate social and environmental
concerns in their business operations and interactions with their stakeholders.

IT. Tt is essentially a way of giving back to the society in which the company is doing
business and making profit for shareholders.

III. Companies Act 2013 made the CSR mandatory.

IV. Section 135 of the Company Act mentions every company having net worth of
% 1000 crores or more or turnover of ¥ 2,000 crore or more or a net profit of
% 5 crore or more during any financial year will have to spend in every financial
year at least 2 percent of the average net profits of the company made during
three immediately preceding years on activities defined under CSR.

Select the correct answer from the code given below :
(a) I, II and III only (b) II, III and IV only
(¢) I,III and IV only (d) LII, III and IV

80. Darvaza Gas Crater, Gateway to Hell is situated in which of the following countries ?
(a) Tajikistan (b) Kazakhstan
(¢) Turkmenistan (d) Uzbekistan

81. Which of the following is better known home of golden langur ?
(a) Pakke Tiger Reserve (b) Kakoijana Reserve Forest
(c) Rajaji National Park (d) Desert National Park

82. How can Balance of Payments (BoP) deficit be reduced ?
I.  Depreciation of domestic currency
II. Increasing import duty
ITI. Providing export subsidies to domestic producers
IV. Borrowing from abroad
Select the correct answer using the codes given below :
(a) TandII only (b) TIand IIT only
(c) IIand IV only (d) I, II and III
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83.

84.

85.

86.

2023-24 T AT IAC WoH'd AIad © A9 3 €3 AS3 faazr I 2

(a) Q@Fﬁﬁ?éaﬂ

(b) TEME A 383

(¢) TIUSHS SH

(d) €ug w3 II Seeamit

<Y g+ AIS' (EBR) © Heds @9, It i3 st '3 fegrg ad |

I. EBRs 83 &3 e I6 1 A63d 839 © wiafanit g™ §arei Aemit I&
et B8 Y3 ¥ w3 fonrd & »F wiefedft Seg AISg © gre ISt A I |

1. 3t we <t aree 59 A EBRs & s €9 &dt IfmrAier 3 |

1. Yt AeGe © feg 3dtar 2016 3 e a3 i3 famr I |

Eug &3 a2 FEst ST fagz/fagz Adt I/I5 ?

(a) fAge 1 (b) IS I3 I

(c) fAIS III (d I,IIw3 III

“Hortinet” B I 8 Iu& &5 fIa3™ AIT /IS ?

1. for § APEDA 28 feafqz iz famr 3 |

1. foo fx gdifqE SAfEsdt Ygu J A geugd § fogus a8 ficade o8
AEfU3 AT yTrs J9T' J |

111 fog Aerfes Wy Idt 937 & S s AfFSt § Sugd 9w J |

IV. yEiee 89 edrm <8 ays ffds Ji3 AT Ia w3 wiftiardt & fauget St
et IS |

(a) THIS I3 IV (b) TfHIS I, I W3 III

(¢) fASS I, I W3 IV (d LII I3 IV

‘AdEg ARE3T deg’ HeEdt Jo 89 FEs 3 fegg & |

1. fog B 3 YAdge H39d @ witts wiger 3|

1. fog Bdcfos W3 HOa™ IA&HH HITB (MeitY) © Wilia wiger J |

1. fog Scée IEHEI W3 Hong ferdrs seg I |

Iv. fog A-39 28 gofonr A J |

Euda3 FEe fFY fauz I8s At I ?

(a) TAREE IM3 IV (b) THIE W3 III

(c) THIE I, I3 IV (@ fAge I, I W3 IV
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83.

84.

85.

86.

According to the Union Budget 2023-24 which among the following is the biggest
source of the government ?

(a) Goods and service tax
(b) Union excise duty
(c) Corporation tax

(d) Borrowings and other liabilities

With reference to the Extra Budgetary Resources (EBR), consider the following
statements.

I. EBRs are those financial liabilities that are raised by public sector undertakings
for which repayment of the entire principal and interest is done from the Central
Government Budget.

II. EBRs are not taken into account while calculating the Fiscal Deficit.
ITI. This method of raising capital has been discontinued since 2016.

Which of the statements given above is/are correct ?
(a) Tonly (b) IandII only
(¢) III only (d) I, IIand III

Which of the following statement(s) is/are correct for “Hortinet” ?
I. It has been developed by APEDA.

II. It is an integrated traceability system that provides internet-based services to
the stakeholders for exporting.

ITI. It captures the geo location of the farms through the mobile app.

IV. Samples are collected by private lab agencies and the reports are sent to the

authorities.
(a) III and IV only (b) I, IT and III only
(c) TII, IIT and IV only (d) LII,III and IV

Consider the following statements regarding “Cyber Swachhta Kendra’.

I. It comes under the Ministry of Information and Broadcasting.

II. It comes under the Ministry of Electronics and Information Technology (MeitY).
ITI. It is Botnet Cleaning and Malware Analysis Centre.

IV. It is operated by C-DAC.

Which of the above statements are correct ?

(a) TandIV only (b) II and III only

(¢) I, III and IV only (d) II, IIT and IV only
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87.

88.

89.

90.

91.

92.

J5 189 e &8 ‘Augw B fao3 At I6 2

I AR fimrd’ € g Ayg © smi <3 I8 9583 Sfugfdar @rsregs T fis Ay |

II. fog 2n 39 &9 gfan & f9ard3 g9& W3 ferdns a9 o8 g 3 ferdne
Aegeand J | i

111 fog goar w3 YArge H3Id 28 Bt &tz famr #t |

1v. fog feddcfssn W3 Hoa™ II&BH HITS 28 Big dI37 famir (Meity) H |

(a) fAgS W3 III (b) fAIE I3 IV

(¢c) fAGE IW3 IV (d) RIS L, IIW3 IV

Js &t &5 fagz A 3 <0 BoasT I 2

(a) I=FF (b) HAIS (c) Toigt St (d) UsTHfeH

I 3 I w3 i-fHerdls yedvgt T fedA di3T | I S &9 fagsdt sgn
frafeg 3 2
(a) WISt (b) Y3H ¢ fyEdt @ fog3

ferd T wiiefanr-n1s 1 e gan it IS Yfafonre® & fesrud AHs § mide
I3 w3 HIH 33 fefamis Emit g IfJEt mifimiret § I8 34T | gt g &
Juo 3 feAct §ar €3 & AvSE B fdas" U39 Aae Jedr ?

(@) Wi (b) MHEHE

=

(c) TEMIBH (@ midhmaA

ge 3 g% A% gME, LIGO-RESh wiHdtar, oy W3 AUS (LIGO-VIRGO-KAGRA)
ISHCHS 2T (GW) f33ded’ © dcegd T AHS I ASdr | 37931 f3dded Ia3
341 f3dams © fan ufag § =uge €9 Hee daad! ?

(a) FAI3 ATSIIIS

(b) =3 We F9gd3" 3 Y3 TG
(c) SAAHI HdIgRe Sa[83 3 GW © fHardTaH © U™ 88"
(d GuIa3 AI

HEH AT (379 70 fIBH) © I8 Al © uret € WHZ H3T 59 I3 18femit &5
faazr At I 2
(a) 42 Bteg (b) 45 3leg (¢c) 503leg (d) 303leg

June 2023 (B-46)



87.

88.

89.

90.

91.

92.

Which of the following statements are correct for “MeghRaj” ?

I. A set of distributed cloud computing environments following a set of common
standards.

II. Itis a data analytics software to record and analyze rainfall across the country.
ITI. It was launched by the Ministry of Information and Broadcasting.
IV. It was launched by the Ministry of Electronics and Information Technology

(MeitY).
(a) II and III only (b) II and IV only
(¢) TandIV only (d) I,II and IV only

Which of the following is most elastic ?
(a) Rubber (b) Steel (c) Wet clay (d) Plastic

India has realised development of all types of missile systems including ballistic,
cruise, anti-ship, air-defence, air-to-air and anti-missile systems. Which of the
following is a cruise missile ?

(a) Agni (b) Pralay (¢c) Prithvi (d) Nirbhay
Aditya-L1 mission of ISRO will enable a comprehensive understanding of the
dynamical processes of the sun and address some of the outstanding problems in solar

physics. Which instrument will help understand the composition of solar wind and its
energy distribution ?

(a) PAPA (b) SUIT
(¢) VELC (d) ASPEX
A few years from now, LIGO-India will join the network of US, Europe and Japan

(LIGO-VIRGO-KAGRA) gravitation wave (GW) detectors. The Indian detectors will
help in enhancing which aspect of the gravitation wave detection ?

(a) Source localization
(b) Detection at much lower frequencies
(c) Detecting signatures of GW from Cosmic Microwave Background

(d) All of the above

Which of the following is true about the average volume of total body water of human
body (70 kg) ?

(a) 42 Litres (b) 45 Litres (¢) 50 Litres (d) 30 Litres
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93.

94.

95.

96.

97.

WH Wg-60Mg AT fIA F &8 ASU3 J ?

(a) gH (b) forads
c) O® (d) HYI3 IH

WErL LA it fogdit orge’ 9 § 2oE, f99e '3 ¥ A o J9 3918 % Ho T
fouerar a9 #f, fA T an JI=, wfid =8 § ydies, fage 3 & 3 Jus & faR I9
3JF T I YUS IS 3 Urde IGEmiF I ?

(a) HIHSG 370 W3 3708 (b) HIHS 67

(c) HIAS 3628 (d) AIAS 372 W3 373

J& fafemit &0 faafant & 9793 © ks @9 “‘Hre fedu witirg™” © IR & 7vs
Sz famr J 2

I e faredn @ fJ3F & gafemr

II. JcImit w3 yret S Sfow @ grara F Ha™dl

Il §3-8'3 T H3H

IV. H&H RSS! B He™It W3 HES Hegd!

Jat fid3 I3 T TI3 a9a At €33 TT
(a) S LIINI IV (b) IS I3 IV
(¢) TA=H I3 IV (d I, II, I3 IV

Y& Hol f[<g T90 HHS © A9y g ﬁgc' o('e;m © U39 ys=us @ g WIS
3= AFTUS 99 AdST O ?

(a) I3 T AUIH Ie (b) dTI AISEI H3 It
(¢ I <t AfHIT &% HAE (d) HAT THS e

foge &9 faoz A% At S91 &8 A8 &t ver 3 ?
(a) WeRfEET de - fa8 & AfgHt & I
(b) INHleE S - or § €9 IgH3 &8 feus AT ©g I SI3T AT AaeT I

(c) AAIfAT 2 - feos A ©wd™ UA i3 I 55 '3 a8 arged & JIa"

(@ Yde e - & 3t weifd M 8 58 & yrd J9&", & It ST d96 W3 &7 IF
TUH JI&"
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93.

94.

95.

96.

97.

MH-60R Seahawk belongs to which of the following country ?
(a) Russia (b) Israel

(¢) China (d) United States

Which Section/Sections of the IPC prohibit(s) sale, letting on hire or otherwise
disposing of a child or, as the case may be, buying, hiring or otherwise obtaining
possession of, such child ?

(a) Section 370 and 370A (b) Section 67
(¢) Section 362A (d) Section 372 and 373

Which of the following are included as being part of the “Right against Exploitation” in
the Constitution of India ?

I.  Protection of the interest of minorities

II. Prohibition of employment of children in factories and mines
ITI. Abolition of untouchability

IV. Prohibition of traffic in human beings and forced labour
Choose the correct answer using the code given below :

(a) I,II and IV only (b) II and IV only

(c) III and IV only (d) L II, IIT and IV

Who can establish additional courts for better administration of any existing law with
respect to a matter enumerated in the Union List ?

(a) Supreme Court of India
(b) Union Government by resolution
(c) Parliament with the consent of states

(d) Parliament by law

Which of the following pair is not correctly matched ?

(a) Absolute veto — Withholding of assent to the bill

(b) Qualified Veto — Can be overridden by the legislature with a higher majority
(c) Suspensive Veto — Taking no action on the bill passed by the legislature

(d) Pocket Veto — Neither ratifies nor rejects nor returns the bill for an indefinite
period
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98. &3ITElz B9 IACT TSt I Bt fed faadvi fenmaet I 2
1. fog IH feos A @ 8 nae evrgr FEU3 3T AT I |
II. g fig &< feamits Afgg o6 aifs3 i3 Aer I |
III. for it FaSit 3419 SRS St 73T € AHS e I& |
v. &g ydt 39 B srHee AREr J |
V. for T Iwgns anNd © Headt enrgr gfewr Aer J |
(a) A=B I IVWIV (b) IS II, III W3 IV
() A=BILIVMIV (d) =S ILIINIIV

99. I3 T I3 Ifms g9 It i3 Iu& '3 I a3 :

I frAfio g ovale w3 e g iag dR I& |

II. dfHAS T Hgat & Ua3T IHeIUst evg fagaras &St Al 3 |
1. fog 393t &3t Aue< © A356 Ui @1 g saer I |

U3 FEst &9 faaz/faazd At I/3s ?

(a) de& I W3 III (b) IS I W3 III
(¢c) I=HIII (d) I, I3 III
100. HOt I T Hol II &8 fHE'® J9e 98 Fomit Js By a3 f<d Adl €39 T2 -
Hol 1 HT 11
(Ufgs s (<)
A O-foAgA Aead T 1. fug fiflg wigdehins ReEA nOg3
S’ N . A P
Uges I ffAeT HaAE Irgat ur {9 A
< ATfesT a9& I |
B. HUHA (SUPACE) 2. fog wadEHEms Bedan wags
Heeand J 7 fagfen T nigee 333t
IHe fIg 996 g HeE dav I |
C. H<H (SUVAS) 3. fog on 39 <8 AUdiH ade, I aae
W3 g wes3t i< aA° < g-aEfEar
o AgS3 BT |
D. #-aid 4. furer Q27 OF g9 S A wES3T S
WA €9 AFe W3 97931 66 feerer @
ICT § HAg3 dJo J |
as:
A B C D
(a) 3 1 2 4
® 3 2 4 1
e© 4 1 2 3
@ 3 1 4 2
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98. Which of the following are the features of a notified area committee ?
I. TItis set up by an act of a state legislature.
II. It is constituted for a newly developing town.
III. Its powers are similar to the powers of the Municipal Council.
IV. It is entirely a nominated body.
V. Its Chairman is elected by the members of the committee.
(a) III IV and V only (b) 1II, IIT and IV only
(¢) II, IV and V only (d) I, III and IV only

99. Consider the following statements about Finance Commission of India :
I. It consists of a Chairman and three other members.
II. Qualification of the members of the Commission is determined by the President.
ITI. It is to act as the balancing wheel of Indian fiscal federalism.
Which of the above statement/statements is/are correct?
(a) Tand III only (b) II and III only
(c) III only (d) I, II and III

100. Match List I with List IT and select correct answer from the code given below the lists.

List I List I1
(Initiative) (Aims)
A. E - Resource centers 1. Itis an artificial intelligence based portal
‘Nyay Kaushal’ aimed at assisting judges with legal research.
B. SUPACE 2. It is an artificial intelligence based software

that can assist in translation of judgments
into regional languages.

C. SUVAS 3. It will facilitate e-Filing of cases in the
Supreme Court, High Court and District
Court across the country.

D. E-Committee 4. It aims to interlink all the courts across the
country and make Indian Judicial System
ICT enabled.

Codes:

A B C D

@ 3 1 2 4

by 3 2 4 1

() 4 1 2 3

d 3 1 4 2
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101. I fifamif T IB3 15 89 .
(a) F&SH (BhuNaksha) - f3ries darAcs Afld 58 ffg I8
(b) FH (Bhoomi) - IIB T AIFI AT I wHE fIaast § fariedd
JI& W3 fid Argcang S8t B8 Ufgsdert
(c) TIST (Dharani) - 38IMeT & AT ©HTT fanSSIHIS IHE &0 &8 RoR 37
& 3 96 T UfaBaeHt
(d) ASTHIE (SVAMITVA) - SRI63H AIRYE 3I6 3o ed’ Ug 9337 99
wrerel, mte € Jess w3 fosras witarg /rusdl
I3 Y6 SI6 B Ure
102. E-JIRISH AI=HE 2022 © AEU {9, Is B9 aEat § fegrd w3 A feasy & Ot
a9 :

I ‘g-3eIeAC HIT 2022 : fo feBaa e f3Hies Jegaie’ gnis. wafag w3
FHTS HHTEWT @ fagmar enrar Tt s famr |

II. 393 B-IeI&H fean godis €9 105 W3 B-39d godd 9 612 AFS '3
3, T 2020 PRI 10073 29 I F IS T | )

III. g-Jedorie f3eowiec fidan R Tus uflad Ags '3 A8 fa IaHad

g-gdflerdt geda R ufad a3 J |
(a) IASBII NI III (b) deFIWIIII
(¢) IA=BINMIII (d) I, IIW3III

103. U5HS <3 BT WF f3=8uide wagdl (PFRDA) g 35 8ftmit &9 faast
A&EHS HlH /At &t At 3/J& ?
I IEeS U6HG Y&t (NPS)
II. WS JoHs Was

III. YO'e H3dT f{H Wit HaTs (PM-SYM)

Jat id3 a3z T =33 I9d At €33 T
(a) deB1 (b) B INIII
(¢) ALK INIIII @ I, IW3III

104. I5 Bt feg fam ARET & 993 € Ufo® AeH ST w3 2ad eug e
‘Jar-s . § fafes w3 feafiz izrd 2

(a) IHSS 8A feaA fsad (NRDC)

(b) fefimrad w3 geufae 89 Ufgre (CSIR)
(¢) fJer3® edafean fBnfes (HAL)

(d) It 89 w3 feaH fSamH (DRDO)
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101. Find out the incorrect match from the following :

(a)
(b)

(c)

(d)

BhuNaksha — A solution for Digital Cadastral Mapping.

Bhoomi - Initiative by Govt. of Kerala to digitize paper land records and
create a software mechanism

Dharani —  Initiative by Govt. of Telangana to integrate RoR data with
individual land map.

SVAMITVA - Scheme to demarcate inhabited (Abadi) land and provide Record
of Rights/Property Cards in rural areas through the latest
surveying drone technology.

102. Consider the following statements regarding E-Governance Survey 2022 and choose

the correct option.

L

IT.

III.

(a)
(c)

‘E-Government Survey 2022 : The Future of Digital Government’ was released by
UN Department of Economic and Social Affairs.

India ranked 105 in the E-Government Development Index and 61 in
E-Participation Index, down from the 2020 rank of 100 and 29 respectively.

Japan ranked 15' in the E-Government Development Index while Denmark
ranked 1 in E-Participation Index.

IT and III only (b) T and III only
I and II only (d) I, II and III

103. Which of the following pension scheme(s) is/are run by the Pension Fund Regulatory &
Development Authority (PFRDA)?

L
II.
III.

National Pension System (NPS)

Atal Pension Yojana

Pradhan Mantri Shram Yogi Maandhan (PM-SYM)

Select the correct answer using the code given below :

(a)
(c)

I only (b) IandII only
I and III only (¢) I,IIandIII

104. Which of the following organization has designed and developed India’s first
Indigenously Flying and Trainer Aircraft ‘HANSA-NG’ ?

(a)
(b)
(c)
(d)

National Research Development Corporation (NRDC)

Council of Scientific and Industrial Research (CSIR)

Hindustan Aeronautics Ltd. (HAL)
Defence Research and Development Corporation (DRDO)

June 2023 (B-53)



105. f83 393W® I7939 UfBH (ITBP) & WU UIZ-WO fRyse v god 2022 9
J5 fefemit fed oo am/g9.dt. R rarfuz i3 J 2
(a) oS y=©r (b) Y W3 ST
() IJTH (d) fAfent

106. I5 Bt fod for 20 feg 993t TITH & wagsd 2022 R9 A% @9y
Afeaad g ‘HGar T WiHs S8 J 2
(a) HIHS (b) THEl Igmr
(c) AUS @ gA

=

107. fg&H (BRICS) © I8 &8 I 84 5 fed faoz s86 At 3/36 ?
1. fgeH (BRICS) 1 €39 Idmit nige feemaret & day gu 3
II. for & AavUs 2001 feg I
III. Bdel wiediar § 2010 feg Afanr famr
IV. 1531 fA (BRICS) FR®6 S AH=ral Syt wiadier Sgar
Jor i3 I3 T =93 94 AJI €39 & JE a9 -
(a) TAIEIWIII (b) THIZI, HMIWI IV
(¢) THIE L, IIW3 IV (d) LILIIwW3 IV

108. Monkeypox SIHIG & I It feg I8dr § <fegn 3 SU'8t B¢ garits AstHs eHAT
gmie (EMA) 28 Hgdt [$3 ot 3 | R i e sl &7 J 2

(a) MMVANEX (b) MPVANEY
(¢) MVANEX (d) IMVANEX

109. H'IT 2023 feg Wiifa3 i3 I1E f3ries IA3s ANgasT Je3 © Fegs feg J& i3
FES fod fgad Adt I ?
I fore 8 At “ferites Ode wueg, wid 3 St i
II. forer wiids @3 398 <8 i3 famr /&t
1. ferer €8F I9 36 3Aes” /i
I i3I AT T WTI 3 At €3I & JEad |

(a) fAGE IW31I (b) THIS I W3 11
() fRIE I3 III (d) I, I3 III
110. I fBfemit fod faadt ysrs el & ‘QuASS QUI[lI g edi3Td ?
(a) &H (b) forg (c) TIHWIH (d) IJASAAA
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105. The Indo Tibetan Border Police (ITBP) has established its Mountain — Warfare
Training Centre in which of the following State/UT in July 2022 ?

(a) Himachal Pradesh (b) Jammu and Kashmir
(c) Ladakh (d) Sikkim
106. Indian Embassy in which of the following has organized its much sought after annual
flagship cultural programme ‘SARANG’ in October 2022 ?
(a) Germany (b) South Korea
(c) Japan (d) Russia

107. With reference to BRICS, which of the following statements is/are correct ?
I.  BRICS is an acronym of five emerging economies
II. It was formed in 2001
ITI. South Africa was added in 2010
IV. 15t BRICS Summit will be hosted by South Africa
Select the correct answer using the code below :
(a) TandIIonly (b) I, III and IV only
(¢) I,II and IV only (d) L II, III and IV

108. Monkeypox Vaccine has been approved by the European Medicines Agency (EMA) for
protecting adults from the virus recently. What is the name of this Vaccine ?

(a) MMVANEX (b) MPVANEY
(¢) MVANEX (d) IMVANEX
109. With reference to the Digital Payments Awareness Week, organized in March, 2023,
which of the following statements are correct ?
I.  The theme was “Digital Payment Apnao, Auron Ko Bhi Sikhao”
II. It was organized by Ministry of Finance
ITI. The Mission was “Har Payment Digital”
Select the correct answer using the code given below :
(a) TandII only (b) II and III only
(c) TIandIII only (d) I, II and III

110. Which of the following space agencies has launched ‘CAPSTONE’ satellite ?
(a) NASA (b) ISRO (c) SPACEX (d) Roscosmos
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111. 393 gl BT Yrae fedr €3 Une © Heds g, I i3 auat &9 faazr Adt
/35 ?
I ford 14 3359, 2022 § B9 &I37 famrr 7t
II. for & Ted fesr e 8 &7 famr 7t
111 forer 82n Agdl Sfdar AT Yors 39a grees @@ Uil giget © fearr

<o Agfe3T a9aT 9
Jot fid3 I3 T TI3 I AJt €33 S T a9
(a) fAgE1 (b) fAIS IW3 11
(c) THIZ III (@ I, IIW3III

112. HeJ & B 2R & Ufgd nwizg Treg cotAlae <68 Jdi3d © Aegs feg Jat i3
& foo fagz /{992 986 AGt /35 ?
I. foAe 3Ac 3o I8a3T 9 wifas i3 famr 7t
II. foA< S8 &8t © It 520 Hied I
III. AIJ1 &F SF Af3T 3 BISTT 40 Hied I&t I
Jo' &3 I8 I3 & =I3 SIfen At €39 E S a9
(a) IW3III (b) IW3II
(c) fHIS1 (d) I, IIW3III
113. I&t I3 2 &9 fan & 997 F, 9793 & Y3\ S3fiics AH & ufgdt T FHAR U &
fzrg frifaar 3 2

(a) THE I (b) TUS (c) =MZEH @ fE3sEmr
114. Hot I T Hot 11 &8 fH8'6 g€ I8 gomi 9o fie3 a3 fed Adt 839 g2 -
Hol' 1 HoT 1T
(2023 S U=+ Al YgAaTd U3 JI& @8) (B /B 3)
A. HAHSd Tl 1. FAIIeA
B. IH3TI® 2. WA TIA
C. HBIeEdT 3. W<
D. WAnSF yA= 4. W3HE
as:
A B C D
@ 1 2 3 4
b 4 3 2 1
¢ 4 3 1 2
@ 2 3 1 4
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111. With reference to the India Infrastructure Project Development Fund Scheme, which
of the following statements is/are correct ?

I. It was launched on 14th November, 2022
II. It was launched by the Department of Commerce

ITI. It’s objective is to aid development of quality PPP projects by providing necessary

funding support
Select the correct answer using the code given below :
(a) Tonly (b) TandII only
(c) III only (d) I, 1II and III

112. With reference to the country’s first underwater transport tunnel and the corridor for
metro train, which of the following statements is/are correct ?
I.  Its test run was conducted in Calcutta
II. Its length under the river is 520 meters
III. Tunnel is approximately 40 meters below surface of the river
Select the correct answer using the code given below :
(a) Tand III only (b) TIandII only
(¢) OnlylI (d) I,II and III

113. By defeating which of the following countries, did the India’s Men’s badminton team
win the Thomas Cup title for the first time ?
(a) South Korea (b) Japan (c) Vietnam (d) Indonesia

114. Match List I with List II and select the correct answer from the code given below the

lists :
List I List IT
(Padma Shri Awardees in 2023) (Area/Field)
A. Munishwar Chandawar 1. Sports
B. Hemant Chauhan 2. Social Work
C. Mool Chand Lodha 3. Art
D. S.R.D. Prasad 4. Medicine
Codes:
A B C D
a 1 2 3 4
(b) 4 3 2 1
(o0 4 3 1 2
d 2 3 1 4
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115. GST (I3 W3 AIfer o) © I8 &% Is B fod faaz I8 At /35 2

I. foAT Owdns aedl 3 afHAaa I |
II. WIS 279(8) © WaHT, fg Seg w3 I 7 T ASTSIH I |
I11. WWWW“@H%%'CdH'O'&HdeW?WWG’WE

fRefgr dga" I |

Jo" i3 I I3 & TI3 IIfen At @39 S v I |

(a) A IW3 I (b) fAIS II W3 III

() TARIE IW3III (d) I, IIW3III

116. HoOt I T Hol Il &8 A% dJd I &3 J3 <8 AJt @39 St 9= 3 2

Aol 1 Hol 11
(598 YygAdd 13 — 2022) (S1B3)

A, WA WISIH 1. WJ" TA3d

B. MWSH oS 3AST 2. JAfes fefamirs

C. 96 9J&'6a, IIBH Iz w3 fefay 3. W3
Frfegfedr

D. JdIfBE S93H1, Hacs N838 3 I .50t 4. HI
AIUSH

as:
A B C D

@ 2 1 4 3

® 1 2 4 3

(c) 3 4 1 2

@ 3 4 2 1

117. HIIS™ ASH'S S93 AICIfade AalH 99 I& 88 86 '3 Jig 39

I.  HII® HeHS S93 AICHede AeltH 8 @79 Qussd HeltH I 7 & wids 2023 3
H'IT 2025 3 & A5 S I |

II. A wlies We-we /iyt 9aH 1000 gue, 7 gue © JIet &g, w3 <u 3 <g It
AH JIQE T HHr 2.00 39 qUB I |

III. Y37 Ogd 3" 8ge ©f 3t 3 9 7% gmig U3 € g9 € 50% 39 du
Ao J |

1v. for AStH R9 7.5% Y3t Ao fonfos fewrm ea 3

U3 FE fFY fauz At 3 ? At feasy gE -

(a) A=TB IS II (b) S=HI, II W3 III

(¢c) A=B I, I W3 IV (d S=TBLIIWIIV
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115. With reference to the GST (Goods and Services Tax) Council, which of the following
is/are correct ?

I. Its Chairman is Union Finance Commissioner
II. As per article 279(A), it is a Joint Forum of the Centre and the States

ITI. Its main function is making recommendations to the Union and States on issues
relating to Goods and Services Taxes.

Select the correct answer using the code given below :

(a) TIandIIonly (b) II and III only
(c) TIandIII only (d) I,II and III
116. Match List I with List IT and select the correct answer from the code given below the
lists.
List 1 List II
(Noble Prize Winner-2022) (Field)
A.  Annie Ernaux 1. Economics
B.  Ales Bialiatski 2. Chemistry
C. Ben Bernanke, Douglas Diamond 3. Literature
and Philip Dybvig

D. Carolyn Bertozzi, Morten Meldal 4. Peace
and K. Barry Sharpless

Codes:

A B C D
(a) 2 1 4 3
(b)y 1 2 4 3
0 3 4 1 2
d 3 4 2 1

117. Consider the following statements regarding Mahila Samman Savings Certificate
Scheme :

I.  The Mahila Samman Savings Certificate Scheme is a one time scheme available
for two years from April 2023-March 2025.

II. The minimum deposit under the scheme is ¥ 1000/- in multiples of rupees one
hundred and the maximum deposit amount is ¥ 2.00 lacs.

III. The account holder can withdraw up to 50% of the account balance after one year
from the account opening date.

IV. This scheme has a fixed interest rate of 7.5% p.a.

Which of the above statements are correct? Choose the correct option :
(a) TandII only (b) I, II and III only

(c) I, III and IV only (d) I,II and IV only
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118. w33t & wIfed YEifeusT € ARGStgs W3 &St S8 G20 deHT (G20
EMPOWER), AT 35 58 a5 § feord |
I. G20 EMPOWER Y€iRc Adcd feg Wa3t &t »aerdl w3 AHSSISES § 30 d90

JI

II. G20 EMPOWER 2023 ©F ggn3t Hiféar sus fed I&t w3 Tt G20 EMPOWER
HifEar f3geamyan fea Jet |

III. G20 EMPOWER < grdl HIféqT e femr |, “Hige Arasteds € s s a9
fafa@t Wiz fearent” |

BUde3 JHs /TES 7Y faaz At 3/3s ? At feasy gF

(a) AIZIW3II (b) THIS I W3 III

() fAggIW3 11 (d) I,IIW3III

119. H& i3 © Aoy R Io' I3 famres 139 faaa Adt 57 I 2
(a) faR &8 & Hal 5% Hfonr Aear Agg for o fige fan < 2o § aus &,
H3H 96 T, el <, IEEIEH 7 f6UH B d96 &'% AEU3 feeRge IT |
(b) Hat 5% feg 3793 © B3 3 Hf II3 € AacTdio I3 ©f IR e Ysu
Jo |
(©) HE &% 393 ¢ Hacadis 23 &9 IR © fours &8 ASuz J |
(@ W& B 393 & AT ewgr dR €09 3T A A g I Irdat e ©
fow a8 Atz I |
120. ACH' € I3 B3 ufgen & fH8's a3 -
A yficas 1L Hfewr Iftrize R RarJa A ed s a=ge 9
B. WoARSEIE 2. fog a2 fifimr g U AR 9o fiE wisgs e Sard
dI< IS
C. gfsz o5 3. AN Ity 3BT H3T AT © wiedyd faag &% der I
D. ACITTSB 4. fog 6 gewr I 7 g A g fem 3 So Sose I
J f3 fog WA 578 eatAUge J9 Aael I w3 feRg

e o5t g <3 Aol J
as:
A B C D
(a) 1 2 4 3
(b) 4 1 3 2
0 3 4 1 2
d 3 1 4 2
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118. Consider the following statements regarding the G20 Alliance for the Empowerment and
Progression of women’s Economic Representation (G20 EMPOWER).

I. The G20 EMPOWER is to accelerate women’s leadership and empowerment in
the private sector.

II. The Inception meeting of G20 EMPOWER 2023 was held at Bhopal and the
second G20 EMPOWER meeting was held at Thiruvanthapuram.

III. The theme of the G20 EMPOWER 274 meeting was, “Women’s Empowerment:
A Win Win for Equity and Economy.”

Which of the above statement/statements are correct ? Choose the correct option :
(a) Tand]II only (b) II and III only
(¢) TIandIII only (d) I, II and III

119. Regarding money bill which of the following statements is not correct ?

(a) A bill shall be deemed to be a money bill if it contains only provisions related to
imposition, abolition, remission, alteration or regulation of any tax.

(b) A money bill has provisions for the custody of the Consolidated Fund of India or
the Contingency Fund of India.

(¢) A money bill is concerned with the appropriation of money out of the Contingency
Fund of India.

(d) A money bill deals with the regulation of borrowing of money or giving of any
guarantee by the Government of India.

120. Match the following aspects of streams.

A. Point bar 1. The cut off meander part bends to form this
structure
B.  Oxbow lake 2. They are found in short segments where the

underlying topography and bed rock structure force
them to form this structure

C. Braided channel 3. Sediment deposition takes place along the inside
bank of meander bend

D.  Straight channel 4. Formed when a stream contains more sediment
than it can readily transport and splits it into
multiple channels

Codes:

A B C D
a 1 2 4 3
(b) 4 1 3 2
¢ 3 4 1 2
(d 3 1 4 2
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